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SECTION – A

(QUESTION NUMBERS 1 TO 7 CARRY 2 MARKS EACH)

1. Solve the following system of linear equations  62x + 37y = 13 ,    37x + 62 y= -112.

(Or)

ax + by = 2ab

bx + ay = a2 + b2

2. If (x-1) (x+2) is the HCF of the polynomials

    p(x)  = (x2  + 3x – 4)    (2x2 + x + a) and

    q(x)  = (x2  - 3x – 10)   (3x2 – bx  + 2), find the value of ab
3. The nth   term tn of an AP is given by tn = 5-2n. Find the sum of first 25 terms of the A.P.

4.  Solve for x :      p_     +      q_
=  2;  ( x #  p, q
                              x-q            x-p

(or)

    10ax2 – 6x + 15ax – 9=0    a # 0:   (x # 2,4)

5. A loan has to be returned in two  equal semi-annual instalments. If the rate of interest is

    16% per annum, compound semi-annually and each instalment is Rs. 1458, find the sum

     borrowed.
6. The areas of two similar triangles are 36cm and 49cm respectively.  If one side of the

     First triangle is 9 cm. What is the length of the corresponding side of the other tringle?

7.  From a well shuffled pack of 52 cards, black aces and black kings are removed.

     From the remaining cards, a card is drawn at random.  Find the probability of drawing

     a king or a gueen.

 (2) 
                                                                                                                                                                                                                 SECTION - B

QUESTION NUMBERS 8 TO 19 CARRY 3 MARKS EACH                                                                            8. Solve the following equations graphically
    3x – 2y = 1;  

 4x – 3y = 2
9. Reduce the following to a rational expression in lowest form

     x+ 2   .  
       X     x2 + 4x – 5        ÷                x + 1__.

  x2 + 2x – 15

   2x2 + 3x – 2                   2x2 – 7x + 3

10.  Find the sum of all two digit numbers each of which leave the remainder 3

       when divided by 5.

11. Rs. 1,200 were distributed equally among certain number  of students.  Had there

     been 5  more students,  each would have received Rs12 less. Find the number of

     students.

12. A bicycle is available for Rs. 1425 cash or for 20 % of the cash value as cash down

      payment  followed by three equal monthly instalments.  If the rate of interest charged

      under the instalment scheme is 6%, find each instalment.
13. Construct a ∆  ABC in which BC = 5cm, Angle A= 60o and the length of Median from
      the  Vertex A on BC is 3cm.  How many such triangles are possible?

14 .ABC and DBC are two triangles on the same base BC and the diagonals BD and AC
[image: image2.png]      are intersecting at O. Prove that     Area of ∆ ABC           =   AO

                                                              Area of ∆  DBC                DO

15. Prove that   1 – sin A       = (sec A –tan A)2
                          1 +Sin A
                                                                 (3)


        16 .The radius of a solid iron sphere is 3cm.  It is melted and recast into a solid right

      circular  cylinder of diameter 2 cm.  Find the height of the cylinder so formed, assuming
      that  there   is no  wastage  of metal in the process.

17.Three consecutive vertices of a parallelogram ABCD are
     A (1,2)   B (1,0)  and  C (4,0).  Find the fourth   vertex D.
18. Find the value of k for which the point A (-5, 1),   B (1, k) and C (4,-2) are collinear.

      Also find the ratio in which B divides AC.
19. The pie chart (as shown in the figure) represents the amount spent on different

      sports by a sports club in a year.  If the total money spent by the club on sports  is

      Rs. 108000, find the amount spent on each sport.
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SECTION - C
QUESTION NUMBERS 20 TO 25 CARRY 5 MARKS EACH:

20. The mean of the following data is 38.7.   Find the missing frequencies f1  and f2.

	Class interval
	0 - 10
	10 – 20
	20 – 30
	30 – 40
	40 – 50
	50 – 60
	60 - 70
	Total

	Frequencies
	5
	7
	f1
	3
	f2
	9
	6
	100


                                                                    (4)
21.The internal radio of the ends of a bucket, full of milk and of internal height 16cm are       

     14cmand 7cm.  If this milk is poured in to a hemispherical   vessel, the vessel is completely 
     filled. Find the internal diameter of the hemispherical vessel.
22. A vertical flagstaff stands on the top of a building.  The height of the flagstaff above the

      buildings is 6m.  The angles of elevation of the top and bottom of the flagstaff at a point on

      the level ground are 45o and 30o respectively.  Find the height of the building.

23. If two circles touch each other externally, then prove that their point of contact lies on the

      line joining their centres.Use it to prove the following.In fig, two circles touch each other externally at      

      P, show that AB║ LM, where A & Lare the centres of two circles




24. Prove that the ratio of the areas of two similar triangles is  equal to the ratio of the

      squares of their corresponding sides. Using the above, prove the following

      The area of the equilateral triangle described on the side of a square is half the

      area of the equilateral triangle described on its diagonal.

25. Mrs  Mani has an annual income of Rs. 3,90,000 (exclusive of HRA).  She contributes

      Rs. 8000 per month in her GPF account and pays Rs. 5000 per annum as LIC premium.

      She donates Rs. 12000 to National Defence Fund (100% exemption). If she has been

      paying Rs. 2,500 per month as income tax for the first 11 months of the year, find her tax

      liability for the last month of the year.
                                                                    (5)

      Use the following for calculating income tax: 
a) Savings : 100% exemption for savings upto Rs. 1,00,000

b) Rates of income tax



:

Income Tax

        (i ) Upto Rs. 1,35,000





No tax

        (ii)  From Rs. 1,35,001 to Rs. 1,50,000


10% of the amount exceeding

                                                                                           Rs. 1,35,000

       (iii)  From Rs. 1,50,001 to Rs. 2,50,000


 Rs. 1500 + 20% of the amount 

                                                                                                   exceeding Rs. 1,50,000.

       (iv)  above Rs. 2,50,000




 Rs. 21, 500 + 30% of the amount

                                                                                                   exceeding Rs. 2,50,000.

c) Education less : 2 % of the Tax payable.
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